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An example: Electricity rebates in California

Policy issue:

• Economists love taxes (to reduce bad stuff)!

• And electricity generation produces bad stuff

• ...but nobody else likes taxes, so policymakers often use rebates
instead

• Are these rebates actually effective?

Approach:

• Look at the “20/20” policy in California

• Customers who reduced energy use by 20% received a 20% discount

• Eligibility for the policy isn’t random...

• ...but is determined by a policy rule:

• Customers had to have an account before a cutoff date

→ Use a RD model to estimate treatment effects
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Estimating the effects of 20/20

Koichiro runs a version of:

Yit = τDit + f (Xi ) + αi + δt + εit for c − h ≤ Xi ≤ c + h

where
Yit : energy use by household i in month t
Dit = 1[Xi ≤ c]× [t ∈ program period]
c is a cutoff date by which accounts had to be opened for eligiblity
f (Xi ) is a flexible function of the running variable, Xi

αi , δt are customer and time FE, respectively
εit is an error term
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Checking the identifying assumption
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Main results
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Bandwidth sensitivities
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Cost-effectiveness
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